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There is a ‘Cool-off time’ of 20 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Statistical tables can be used in the examination hall.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Questions from 1 to 16 carries 3 scores each. Answer any 8 questions. B8 x3=24)

1. @)
(ii)
2. )
(i1)
3 q)
(i1)
4. (@)
(i1)
5. ()
(i1)

FY-232

The method of collecting data from a third party called witness is known as

(a) Direct Personal Interview (b) Indirect Oral Investigation
(¢) Direct Observation (d) Telephone Interview
What is Focus Group Discussion ? 1+2)

Name the journal published by ISI.

What are the four divisions of NSSO ? 1+2)

Classification according to two disjoint attributes are called

(a) One way classification (b) Two way classification
(¢) Dichotomy (d) Manifold classification
Name the different types of classification. (1+2)

Which one is the graphical representation of a grouped frequency distribution ?

(a) Bar Diagram (b) Pie Diagram
(c¢) Scatter Diagram (d) Histogram
Draw rough diagrams showing simple and multiple bar diagrams. (1+2)

For a set of observations A.M. is 7. If 3 is added to all observations, then A.M. is

(@ 7 (b) 10

(c) 21 d 4

Write any four desirable properties of a good average. (1+2)
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1 2)@@d 16 o0WSs cadiEBded 3 capod aflow. ago@®ilelo

8 2103 1B DB DOMMVo Af)9IM)d>. 8x3=24)

L q)

(it)

(if)

(i)

(if)

(i)
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qvadl ag)am) Aflglen)an MmmMoae®IegEled alan” aflaieenBud cuoadleemam
dollow af)am; aflgleaman,.

(a) emAlgEs AlyGHEIN® @REMEIo

(b) alcEIBH Q106N0¥] @REM|aHMo

(c) emdlges dldleuemo

(d) eseieanIed @rEN)RI

GaN0BHAV D)o alBa] af)aMIGE af)am ? 1+2)

IST (10nfl el 3,819 eeemelnng Galow)®)d:.

NSSO @es moel aleoneBud afo®INEHWIE ? 1+2)

aVIEoA1 MLANEUAHHUBHHMNVE]2] TVAYIO® GaMe” aly® T AleoweEow

@o@ABBeM AUBYBHeema06m”

(@)  aganom AIBYlB:0emo (b) alaom aIdylaoemo
(c) eowesnagal (d) ao)®el aIdyleoemo
aflalw®o AIRYlRHEMEMBBIONS CalOOPI@)d. 1+2)

80 @yl  allmoemosiom  Wiadlenenw]  (EGAAIWIM.  621Q0d
Va0V ENAN® eNAIA@S o@@6rN ?

(a) enIdB AW W0 (b) 601 WwWo

() apogd wWeo (d) odlavegowdo

TMloallld 08 WOWo, 2WBGlafltd  MIB  AWOWo  afaTlUO®

(1@ A9l AWl BB1 86 BAN AWXD(UNo QIO BN D> (1+2)

80) MGo (I®IBEBBS A M. 7 @M. af)Lfo Afleldezosp 3 @nglwond
SN an@l A.M. @ryildlanoe

(@ 7 (b) 10

(0 21 d 4

830) @RHAUCOHM EREIBRINIAIW oFODBHEN ML) (ICDIDH@DHUD af) ). (1 + 2)
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6. (i) Prepare a blank table for representing the informations given below :
Gender : Male, Female
Stream : Science, Arts, Commerce
(i1) The sum of percentage frequencies is
(@) 1 (b) N
(c) any value (d) 100 2+1)

7. (1) Fora frequency distribution mean = 32 and median = 31. The mode =
(a) 30 (b) 315
(© 29 (d 31

(i) For a set of 50 observations A.M. is calculated as 65. Later on it was discovered
that one of the observation 18 was wrongly taken as 80. Calculate the corrected
mean of the data. (1+2)

8. (i) Fortwo events A and B, P(A|B) =P(A). Then A and B are said to be
(a) Equally likely events (b) Mutually exclusive events
(¢) Exhaustive events (d) Independent events

(ii) For two events A and B, P(A) = 0.3, P(B) = 0.4 and P(A|B) = 0.6. Find the value
of P(A and B). (1+2)

9.  Two coins are tossed together :
(i) Write the sample space.
(iil) What is the probability of getting 2 heads ?
(iii) What is the probability of getting atleast 1 head ? 3)

10. With the help of rough diagrams, explain the types of kurtosis ? A3
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6. (i) ey @mMIdleman allaiessud 9UBe ?a8lendnnan GG B0) alSld
QNI B>

eflovo : @WREN3, Oalend

Y © LAY, @RYAFAV, HBICAYAV
(i)  VPOBIM BRYOUYDITNHBINS @) @R BlHN)0
() 1 (b) N
() agonalleiwpo (d) 100 2+1)

7. (1) &) eralyeol aleoem aiglaeicd dlad 32 9o adlulead 31 9o @rRy@)aM).

)& @3 GAOAL = @R 1BlHNo.
(a) 30 (b) 31.5
() 29 d) 31

(i) 50 afleidg)es EIVOEl 65 ag)aN BHEMENIBMNDAGBNAN) a)aNI@3 N@IEG3 18
af)aM 30} WLNIAGN Afleldd) aldhoe 80 af)am aflel 9alcIUle]d6em  YoEIUE
DeNe)allSlajo@an allaflS)ss  aloMEDIGE  EMNIdWIRAS). VOCIWIW AW

BeNB)aflSIB9) . 1+2)

8. (1) A, B ol oeme’ gpaiadiaidas P(AB) = P(A) @rem@lad A @ B @p
@R S@lHN0.
(@) oalel eerissel goladay’
(b) agayel agarvsyilalsaladoy’
(©)  afdvEanoaVGlal gnaladay’
(d)  enadauleniadawady snaladoy’
(i) A, B aparl oene’ enaiad)audas P(A) = 0.3 9o P(B) = 0.4 90 P(AB) = 0.6 90
@RY)M). P(A )0 Bjo)mes aflel’ @:06m)d. (1+2)

9. ©ME MIEMWEBUZ BEOATVAWo af)FWIAM).
(i) avomilud casel af)eIE)d:.
(i) B>y OME MEIBIFIIMGIMBS TVEIILD af)() ?

(iii) B3OMH® B30} MEI HOBIENe HFHANGTIMBH MVoEIAIKD af)T» ? 3)

10.  al@E3NOMR Ma00@eomIes allalw®s &Ae5omlav alvoBade9)d. 3)
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11.

12.

13.

14.

15.

16.

) is a non-probability sampling method.

(a) Quota sampling (b) Multi-stage sampling
(c) Stratified sampling (d) Simple random sampling
(i) Explain systematic sampling. (1+2)

A bag contains 7 red balls, 5 black balls and 4 white balls. One ball is drawn from the
bag. What is the probability of getting

(i) aredball
(i) not a black ball
(iii) ared or a black ball ? 3)

The normal rainfall in four different districts in Kerala are given below :

District Kollam | Kottayam | Idukki | Palakkad
Rainfall (cms) 45 353 29 9.7
Represent the data in a Pie diagram. 3)

Define the terms :
(1) Sample space
(i) Sample point

(iii) Event 3)

Consider the random experiment of drawing 2 balls from a bag containing 4 green and
5 yellow balls. The first ball is not replaced back before the second draw. Find the
probability that both balls are green. 3)

Prepare a questionnaire to conduct a survey of study the opinion of students about the

online mode of learning. A3
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11.

12.

13.

14.

15.

16.

@ 630} MVoRICAUYD (A ITND)aleM GBI @RI,
(@) I3 (ITNE)IeMo (b)  audgl-caued (IGIlo)IMo
(© GIOeaoW @ITio)leme  (d)  Tloalldd 0o0dWo (IGIR)aIEMo

(i) oiguaddla avomiglow) aluoBBose)d. 1+2)

80) eIoUIEd 7 aljalaj, 5 &0, 4 HAUISS AITMNBB)NE. MGG MNP BO) al0n’

TNOOEINS)BN)AN). GHOSETHS)HBNA Al
(i) 2UIMDINIMSBB TVEINUYD BHIEM)H:.
(i) 20O a1 EREJIGIE GHIMTBS MVoEIAUKD BI6M)d.

(iii) B©) 21 AlCINI HOYOTN aICINI BRYAUIMBH TVoRIAUYD) BIET):. 3)

cH0aooR 4 HoBgElon avWINSs cMO® (OaV.dl.) @aTdleanam).

el O30l | CMIZWo | ENS)EN | alORIBSOS’

2YW)HS CI® (Hav.ail.) 45 353 29 9.7
68l WO QIAS)db. A3)
MNABQ|afloe)d.

(1) avomiluB casuel
(i) avomiud enflaz)
(iii) gauag 3)

4 algJ@p S5 260V alNGHBBSE 680) VeI alanp 2 ald)®ud
TNOHNMS)ENAN  @OWIO@ane!  al@lE:eMo  alBlWMIEND:. BANINODD Al
@@2)1Soam BlGIVILI6M EENBIAOBD Al af)SIENMODBIT OME Al )0

212]000BH0MBH TVoEIAUYD® af)(D) ? 3)

B0N3OORIM aloMmom)eAInEMq|d] 3Gl HS1 @3 alamyo aflaiosdd

CUORIBlEMIMGIMI KoiNIW BBV BO) CaldBPAIEN QINIENB:. 3)
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17.

18.

19.

20.

21.

Questions from 17 to 28 carries 4 scores each. Answer any 6 questions. (6x4=24)
(1) What are the advantages of sampling over census ?

(1) A population consists of 5 units. 10, 12, 15, 16, 19. Write all possible samples of
size 2 that can be drawn without replacement method (SRSWOR). 2+2)

Given P(A)= 0.8, P(B) = 0.6 and P(A and B) = 0.58. Find the value of

(i)P(AorB) (ii) P(A'and B'). 4)
(i) The variables like intelligence, beauty are known as variables.

(a) Qualitative (b) Quantitative

(c) Discrete (d) Continuous
(ii) Write any three differences between primary data and secondary data. 1+3)

Complete the covariance between the given variables :

Variable1 (X) | 12 | 15 | 18 | 17 | 20

Variable2 (Y) | 14 | 13 | 17 | 15 | 13 4)

The mean and standard deviation of two sets of observations are given below :

Mean | S.D.

Set-1 35 21

Set-II | 22.85 16

Calculate the co-efficient of variation for the two sets and conclude which set is more

consistent. 4)

FY-232 8



17.

18.

19.

20.

21.

17 2@ 28 QO0WBB  ca103iBWRee 4 cmpod alloe. age®®IlElS

6 GaI0BLEIBUIAEH DOMOo nf)PL)H>. (6 x4=24)

i) ecvmavailam @REaIBH s TLIMANSUIMES CAMBUD af)TNIOESHWIET ?

(i) &0y qvacgloieer 5 Mg 10, 12, 15, 16, 19 agariar ©@oem.
(Il unoaimalgloomdleleiod (SRSWOR) aleflalo 2 er@iges afgjo eigle

(HDTI® (G )aIEMEIBSB)0 af)®I®)H:. 2+2)

P(A)=0.8, P(B)=0.6, P(A and B) = 0.58 agyamleonamwoasm.
) P(A eoegyelad B)

(ii) P(A'@rgyB'w) @oe)) agariaiwies aler &:0em)e. 4)
(i) emnedl, VDM af)aT 21061303 210683 a)MFWEeIa|SIAM).

(@) aoglegglal (b) Mjosnelegdlal

(© aflavwlg’ (d)  @mEmymy’

(i) eo@adl cwg, ecvaneed cwg Mol omlenss oge®sslele @AM

QYD PAVEBUB ) 91O (1+3)

@a@leam alleisod @elenss rvanaly®ll alfiMo @:06mM)d.

BN alde 1 (X) | 12 | 15 | 18 | 17 | 20

OMBIoal®e 2 (Y) | 14 | 13 | 17 | 15 | 13 “)

Q6NE B0 (110 l®IBeBEOS Ao QL8 cawdaw allaNcaeumie @mandenan.

dlad | quomdeandan alloilcnad

om)g'-l 35 21

oaUQ-Il | 22.85 16

QENE" OAVY " (1109 J0EBHEBBIESWle AlEom WEeMsso (Coefficient of Variation)
DHWMD. OB aB®) OOV CWQWHMN HS)OG  TAOGRBR®  ag)an’

DO “)
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22. (i) The graph which is used to locate mode
(a) Frequency polygon (b) Frequency curve
(¢) Histogram (d) Ogives
(ii) Calculate the mode of the following data :
Massess 40-50 | 50-60 | 60-70 [ 70-80 | 80-90 [ 90-100
Frequency 6 8 12 14 7 3 (1+3)
23. (i) Write anote on CSO.
(i) Write a note on any applied branch of Statistics. 2+2)
24. Calculate Quartile Deviation for the following data :
24 | 7|11 | 9 (17 (3 |20 | 14 (4| 22| 27 4)
25. (i) Match the following :
(A) (B)
Symmetry Mean < Median < Mode
Kurtosis Mean > Median > Mode

(it)

26. (i)

(i)

FY-232

Positive skewness Mean = Median = Mode

Negative skewness | Relative peakedness or Flatness of a curve

For a distribution mean = 52, mode = 50 and standard deviation = 6. Find
co-efficient of skewness. 2+2)

In a frequency distribution, total frequency is 70 and relative frequency of a class
is 0.2. The frequency of the class is

(a) 20 (b) 50
(c) 14 @ 30
Prepare a frequency table for 30 observations given below. Take class width as 5.
5 14 | 7 11 9 3 5 2 3 |20
24 27 |29 |21 (18 | 14 |15 (12| 4 6
19|22 81012 7| 4 |26]|25] 24 (1+3)

10



22, (i)

(it)

23, (i)
(i)

GO HOENBOMANDIM DalEGOUIlHMAN (NIa0’
()  (@bldyBaV] Gatoglnend (b) (@dlaadad eadal’
(©) adlavegoWo (d) agar
@06 ®AVIGIHNAN CAWQWOS GAOA P68 15186,
Celo 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
@RYQIYOIDI 6 8 12 14 7 3 (1+3)

CSO owqdl 30) e10endmdla] ad)9)@)d.
VAU BHOTINNG BODEILI B0) (106N @eInTMaldl 80) eI°end)laf
QOO . 2+2)

24, @269 @Bl cWgWIAS KoB3WI @8 AUlalle@au 8 3:06M)d:.

24

7111 (91713120 |14 | 4] 22|27 4)

25 (i)

(it)

26, (i)

(it)

FY-232

Gal®)o alS] GalBHe)d :

(A) (B)
avadl®o gilad < gl < emoaw’
Sdegoflav’ aflad > aflaload > emow’

catomiiglal avaymav’ | allad = dlaload = eaoaw’

OOOGal MUBHYMAV | @RHAIYOT AUBOTINR DWA|WIESCWO
al@qflcadcwo @raal.
830) almosmaniiong dlad = 52, dlala = 50, guoadeandaw aslallecwanad = 6
@YD) AVBLMAV UNEMIBH0 61T ). 2+2)

830) RO Al@EMEIM, BRHYANTTHWES @B 70 BRYEM. MGG B3)
HoMod @RYCaldHld @RHAED] 0.2 @RI @R HoMlOd @RYAIODS
@) 3.

(a) 20 (b) 50

(c) 14 d) 30

@069 @GSN 30 (1100 I®OBHIBBOS @RYQINOTIla|Sld Ao, Goav’
@A 5 @YW af)SIHMN D>

S 114 7 (11913 5 12| 312
24 127 |29 |21 |18 | 14 | 15|12 ] 4 | 6
19122 | 8 [ 10|12 | 7 | 4 |26 ] 25] 24 (1+3)
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27. ()

The second quartile is also known as

(a) Mean (b) Median
(c) Mode (d) Range
(i) A car covered a distance from A to B at a speed of 45 km/hr, from B to C at a
speed of 50 km/hr from C to D at a speed of 55 km/hr. Calculate the average
speed of the car (Distance from A to B, B to C and C to D are equal). 1+3)
28. (i) Fora set of observations, S.D. =3. Then its variance =
(@ 3 (b) o
(©) 9 @ 3
(1) Calculate Mean Deviation about median for the following data :
42 | 38 | 49 | 54 [ 39 | 45 | 50 (1+3)
Questions 29 to 32 carries 6 scores each. Answer any 2 questions. 2x6=12)

29. A frequency distribution is given below :

Class 0-15 | 15-30 | 30-45 | 45-60 | 60-75 | 75-90
Frequency 8 14 25 30 12 6
(i) Draw the two ogives.
(i) Locate median from the graph. (6)
30. (i) The sum of squared deviations is minimum when it is taken about
(a) Mean (b) Median
(¢) Mode (d) Geometric Mean
(i) Find the standard deviation of scores of 50 students in an examination :
Scores 6-10 | 11-15 | 16-20 | 21-25 | 26-30 | 31-35 | 36-40
No. of Students | 4 3 5 10 12 10 6 1+5)
FY-232 12



27. ()

(it)

28. ()

(i)

Q@ENE0 21OV af)aM)o BRIV |SIAM).

(a) oflad (b) dlawload

(¢) cmow (d) coei

80) 338 A @ mlanp B oicriomss 6)0e 45 &l./aemlemd cainwmaien. B
@3 alamye C ofleicaisonss B)oe 50 &l./aemlend cunmlen. C @lod
mlanye D @leeienss 6)oo 55 &l./aeflend. canw@@iene &hSaNEaldd)am).

G163 VEIUEl CAIN® dNEla fISlee)d:. (A V1@ aflan)e B ileeioni B @iwd
aflanye C @ficeisn)e C @lad mlanj D oiceianmss B)oo @)e1yadem). 1+3)

B0) M)Fo (I®OBEBEHS FRIMdedW wlaflc@auad 3 @REM. RGNS
cIBlMday =

(@) 3 b) 6
© 9 @ 3

®oey @ldlanmm cwqes dluwloclad adlmes dld  uwlollewanad
3061 .

42 | 38 | 49 | 54 | 39 | 45 | 50 1+3)

29 2@ 32 010oWEs GalGYEBWON 6 cmod ollew. agoo®len.
2 Gal0BEBUIEEH DOMOo af)H}O))d>. 2x6=12)

29. a0)@raleTl All®oame ®IeY @ATIBleenaN).

Nd

OV 0-15 | 15-30 | 30-45 | 45-60 | 60-75 | 75-90

@RI 8 14 25 30 12 6

(i) o aslalydsio A .

(il) WIarl@d aflamye AW BH6NEBD)B:. 6)

30. (1) QEl@IMEnges AUBRMBBOS OB aBQQlle BHOAIBIANE @3

aflamie QAISGIWIMo BEMEEISECMIIIEM.
(a) oflad (b) dlaload
(c) cmow’ (d) c=o0aEls dlad

(i)

FY-232

50 ®)5leRB08 80} aIdleUIGd rIEla] 2OBSMNOG CDINBHWE GOAVIE SN,
aqRomea@a Ul a8 &06mM)d.

cmoad 6-10|11-15|16-20(21-25(26-30|31-35|36-40

)SlHB)6S af)aio [ 4 3 5 10 12 10 6 (1+5)
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31 ()
(i1)
32, ()
(i1)
FY-232

The wage distribution of a firm is given below :

Class-A employees

Class-B employees

Number of wage earners 550 650

Average monthly wage 5000 4500
Calculate the average monthly wage of all employees together.
Calculate Arithmetic Mean of the following distribution :

Grade 40-49 | 50-59 [ 60-69 | 70-79 | 80-89 | 90-99

Frequency 6 9 8 7

3+3)

Which of the following is considered as best average in the construction of index

numbers ?
(a) AM.
(¢c) HM.

(b) GM.

(d) Median

Calculate median from the following data :

Marks

0-10

10-20 | 20-30 | 30-40 [ 40-50 | 50-60

No. of Students

2

7 15 10

11 5

14

a+s



31, (i)

(it)

32, (i)

(it)

FY-232

80) MO IMOTIeL! caOmMOTAOM Allmosmo @aTIEHeIM,.

gom)'-A %;om)'-B
Zlainmonoad Zlainmonoad
Hlamanoes af)amo 550 650
UIUID] GG Mo 5000 4500

MNoaIMOTIOEl MM SAIMENIVESW)e BN )B8 V0@l GAIGIMo
BHEMANINN .

@06 H30S)TTN @ E6)IM @RYAYBTH ANDEEMBTINOAZ AW o AHEMNEHIHE)M>.

G 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

@RI 3 5 6 9 8 7 (B +3)

V)2 lDAUD MHEMEHISNINTIMISH oRQOo DTHAAIW VOOING aB@I6T ?

(a) AM. (b) GM.

(c) HM. (d) Median

@06y @aIElEeaM cawg@las aflane Alausl@ad @06m)d; :

2OQH6 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

DGlDHBOS af)eiNo | 2 7 15 10 11 5 (1+5)
15
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